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x=19.47°, x = 160.53"

X = 125.26%, x = 234.74°
Xx =150, x = 330°

@ V2cosx+1=2 x=45 x=315
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@ tanx=1/3 x=60"x=240°
o cosx=—% X =120°, x = 240°
O 2sinx+3=1 x=270°

© V3anx+4=1 x=120°x=300°

© 3tanx+2=7-2tanx x=45,x=225" @) 5-3sinx=sinx+ 1 x=90°

@ 2Gsinx+ 1) +2=4sinx+5 ¢

® 3 +2cosBx)=1,0°<x<120°
X = 60°

@ 4sinxcosx +3sinx=0

x=0°x=180",x~ 138.59°,x = 221.41°

@ 4sin” x =1

x=30°,x=150",x =210, x = 330°

@ ZCOSZJC—3COSJC+1=0
x=0°,x=360",x=60",x =300
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@ 3(2—-cosx)+4=>5cosx+2 x=0°

@ 5+ 2tan(@x)=7,0°<x <90°
x=11.25°, x = 56.25°

@ 2 COS X SIN X = COS X
x=90°,x=270°",x=30",x=150°
@ tan?'x—9=0

X=71.57°, x = 251.57°,
x= 108.43° , x = 288.43"

@ 3sin2x+55inx+2=0
x=270°, x=221.81°,x= 318.19°
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@ 2tan’ 60— 5tan6-3=0 € 6sin’ x + Tsinx -3 =0
6=~ 71.57°, 0~ 251.57°, X = 19.47°, x = 160.53°
~ 153.43° , § =~ 333.43°

@ 9cos”x—9cos x +2 =0 @ tan’ 0+ 4tan - 12=0
x =~ 70.53°, x =~ 289.47° 6~ 63.43°, 6 ~ 243.43°
x=~48.19°,x ~ 311.81° 0 = 260.54° , 60 = 279.46°
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. 4.77 AT
Sin = ——= 6= sin™' ( 5 ) = 6= 72.55°
J
1308 Ll 506l e 30 m das 5,1 Lo dhesi e 12m 5,V e Leiusﬂripgwuii.:}u Sy iyl (26
SV e i €3,L 855 ) el L Ty a0 B L3175 m el b Ol
o 12—-1.75  10.25
. ﬂff):(, tanf = =
wolaia E,ey‘f 30 30
e 10.25

= § = tan™! 37'0:, 0~ 18.86°
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